Question L (12 pointsi Name key

a. {(4pts) Rank the following compounds in order of decreasing basicity of the nitrogen atom.
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b. {4pts} Rank the following molecules in order of increasing electrophilicity at carbony)
carbon {C=00). {NO PARTIAL CREDIT)
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c. (4 pts)  Explain why the hoiling point of propylamine is higher than butane. but lower than
propanc,
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Questivn 2 (16 points) Name ey

Give e complete stracture of the major onganic proeduct(s) for the following reactions, Put your
answer in the box provided, Be sure to indicate stereochemistry where appropreiate, Write N, R,
if no reaction oeours,
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Question 3 (15 points) Name bty

(live the complete structure of the major organic product(s) for the following reactions. Pul your
answer in lhe box provided. Be sure to indicate stereachemistry where appropiafe. Write M. R,
if no reaction oceurs.
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(Juestion 4 (18 points} Name ke:’."

Provide the missing reagents for the following transformation. The reagents should be listed
with numbers in order of use il more than one synthetic step is necessary.
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Question 5 {25 points) Name __Hey

a. (10 pts) Using the correet curved arrow formalism, draw the best mechanism for the following
reaclion.
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b. (15 pts) Using the correct curved arrow formalism, draw the best mechanism for the following
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Question 6 (14 points) Naroe ey

Acetaminophen (4-acetamidophenol) is the active ingredient in Tylenol. Propose a synthesis of
4-geetamidophenal from benzene. The reagents should be listed with numbers in order of use if
more than one syothetic slep is necessary,
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Extra Credit (12 points)

Name

ey

Provide a rational and efficient symthesis of the following molecule starting from bromohenzene

and any other organic and/or inorganic reassents,
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